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aUs 3 U Ve e 1 g 3R 3 $1 This paper is divided into five Sections-A, B, C. D&E.

" Section-A (Short Answer Questions) contains one question of ten parts requiring short answer. Allthese

Note :
1. ()
(ii)
(i)

; (i;f]
v)

(vi)

“co-valent in the following compounds:

ten parts are compulsory. Sections-B, C, D & E (Descriptive Answer Questions) each contair[s two -
questions. Attempt one question from each Section. Answer must be descriptive. Section-A
=9 TS } S W H a9 W & Y IR anfdd €1 Jedd Wi 2 3@ @ &l This Section contains one
question of ten parts requiring short answers. Each part carries 2 marks. :
FaeTS 5 it g A frega g T B siR wed €

Explain, why electronegativity decreases down the group? S ; : o

Frafiiad EFRT B 375 SMER & F9R Ued HW ¥ egd : Arrange the following cations in order of
decreasing size: Ra**", Sr** , Ca®" ,Ba** oAy AR Tt R e

SiCly BT ST IS 1 ST & A CCly BT Tl JTHe el SelT| HRoT, Afed AT

SiCly is hydrolysed but CCly is not hydrolysed. Explain with reasons. -

B 1 i 31t TERiasN (SnCly or SnCly)? HROT ferRad|

Which one is more co-valent (SnCl; or SnCly)? Give reason. 3F g

4f B&TD ¥ U FeIag & daieH T n, | 3R m & fore fesem wefara 7 € |ebd €2 An electron is present
in 4f subshell. Find the possible values of n, | and m. _

fFrefefaa & @i @ difife siftre weien 8, SR Hfed ok

: Explain with reasons which is more

(a) AgCl or NaCl b (b) LiCl or KClI

(vii) 3iaieH Us i & STaf Wews vdh o 81 Oxygen is a gas whereas Sulphur is a solid.

(ix)

(x)

Note :

(i) ErdarTa 1 3t Raeer a1 Rrgmai Heisenber

(viii) &7 7o Hard 3§ 3R diforel Differentiate between orbits and orbitals..

e g # Rt S as1 &2 SO S : Which has larger size in each pair? Give reasons:
(a) Na” or Mg™" . “(b) Cu®** or cu* £y : '
mﬁ:aﬂqaﬂqwﬁu B 9 Frabta 72 wRoT wika we BRI 0, , 03, 05, 02
ich of following species are paramagnetic & which are diamagnetic: 0,,0; ,0;,0%  Section.
; : . 1V U, ection-B
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Section contains two questions. Attempt one qu : ' e
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fadamT S5 Discuss V. p——al
; alency bond theory in detail. .
Frrferiaa yeie W it fewol fifw: Wiite short notes on each : . SostinoE

(1) FeivTean ST RigTt e sty e Rigr @ qem Syl

Compare valence bond theory and molecular orbita] theory.

e e 2 W e e T O

H H -
Explain ;;yalcal & chemical properties of alkali metals. | '
ST 1 ST SR (VSEPR) Rigig o 1 : Section-D
.+ electron pair repulsion (VSEPR) theory with examples, | NHETEI Explain the valence shell
: : g

~
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. FreafeRed w wféng %ﬂqﬁm %lﬁgu Write short notes on the following: .
(i) METR Bt T TGO Scirrodinger's wave ‘equation.

(i) S-8rett &1 BT de-Broglie’s equation - o - Section-E
ST v @ T e e 9 g 0 7T R T 7 8 et 5 T e @ s € 0 O R

e 31ad ¥ Y wRafdd & &? What do you mean by lonization potential? How is it measured? On what.

“factor does it depend and how it changes in a group and a period? ok

o IRON & TR V A & dl & AT Ason o auf Bifsrel Discuss the-general charactenstlcs of

' elements of V A group of the periodic table.
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